CBSE Class 3 Maths Worksheet
Subtraction

Solve the following word problems:

1. A cricket match ground could hold

only 3468 people. 5800 people went

to see a match. How many people

WEIBEKITAE = ssswucnsmrermmmans

2. Bhola had Rs. 3975 with him. He spent
Rs. 2987. How much money was left
with time et i

3. The sum of two numbers is 8756. If one

of the numbers is 5978, find the other
number?

Subtract horizontally:

(@) 1841 =1330 = ...t Rough Work
(D)6492 - 3261 = ..oy a2

() 7000-3999 = .4 A% 0
(A)1573-984 = oo
(€)9384 — 6448 = oo

Solve the following word problems:

@ 7 3 9 9 (b) 8 3 20 (€] 9 2 ¢ 6
8 1 & 5 -4 110 -2 0 4 3
[d) & ¢ 9 3 fe) 5 4 0 9 9 8 0.0
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